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2021/TDC(CBCS)/EVEN/SEM/
COMGEC-601T/153

TDC (CBCS) Even Semester Exam.,
September—2021

COMMERCE

( 6th Semester )
Course No. : COMGEC-601T

( Indian Economy )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

The figures in the margin indicate full marks
for the questions

SECTION—A

Answer any twenty of the following questions :
1x20=20

1. Point out one basic indicator of economic

development.

2. Who was the first Chairman of National
Income Committee of India?
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What is the full form of NCAER?

Mention one basic dimension of human
development used to construct HDI by the

UNDP.
Give the full form of CSO.

Mention one basic feature of India’s National
Income.

Point out one parameter of Quality Life
Index.

What is stagnant economy?

Give the full form of NITI Aayog.

When was India’s Planning Commission
constituted?

What type of economic System was accepted
in post-independent period?

Point out one major objective of economic
planning in India.

What is disinvestment?

Give the full form of BPO.
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What is liberalization?

Mention one objective of New Economic
Policy.

Define poverty line.

Name any one special poverty alleviation
programme.

What is disguised unemployment?

Give the full form of MRTP Act.

What is Ryotwari Settlement?

Mention one defect of land policy in India.
What is the full form of SJSRY?

Point out one characteristic of Institution.

What is meant by commercialization of

agriculture?

When was the Tata Iron and Steel Company
(TISCO) incorporated in India?

Point out one weakness of New Agricultural
Strategy.
( Turn Over )
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28. Wh..c.lt is the objective of Green Revolutio 40. Po_lnt out one notion of the workers
India? misperception model.
29. In which year Prime Minister launched the h
Make in India Programme? ECTION—B
Answer any five of the following questions 2x5=10
30. Point out any one factor that is mostly g£q
responsible for industrial slowdown. 41. Mention any two distinctions between
. economic growth and economic development.
31, Who announced the ‘Start up India
Campaign’ in India’s Independence Day? 42. Point out any two impacts of partition on the
Indian economy.
32. Name any one Navaratna (CPSE’s). -
) 43. Explain the term ‘cash reserve ratio’.
33. When was Antyodaya Anna Yojana started? '
44. Narrate any two basic objectives of the
34. What is inflation? " Twelfth Five-Year Plan. .
35. Name any one important fiscal measure that 45. Mention any two important land reforms in
should be adopted to control inflation. India.
36. What is labour market? 46. Point out any two features of MGNREGA.
37. Point out one assumption of sticky wage 47. Narrate any two important roles played by
models. agriculture in the Indian economy.
38. Write a short note on Black Money. 48. Point out any two recommendations
(Phase-1I) made by the Narasimham
39. What is deficit financing? Committee Report on Banking Sector
Reforms. .
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49. Write a note on structural unemployment.

50. Explain the term ‘cost-push inflation’.

SECTION—C

Answer any five of the following questions : 8x5=40

51. Explain the concept of under-development.
What are the factors impeding economic
growth in a under-developed economy? 2+6=8

52. What is ‘national income” State the
difficulties of estimating national income
particularly in an undeveloped country. 2+6=8

53. Give arguments in favour and against the
economic reforms policy of 1991. 4+4=8

54. Why did India choose the path of planning
for her development in the post-
Independence period? Answer with reasons. 8

55. Why poverty eradication programmes are not
totally successful in India? Give reasons in
support of your answer. 8.
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What df’ You mean by ‘environmental
degradation’? State in brief some of the

factors responsible for environmental
degradation. 2+6=8

Explain the term ‘agricultural productivity’.
Narrate any six drawbacks of agricultural
marketing in India. 2+6=8

Write notes on the following : 4+4=8
fa) Make in India

(b) Start up India

Account for the causes of unemployment in

recent period. Point out any three important
measures for the solution of India’s

-

unemployment problem. 5+3=8
Describe four main causes of inflation. What
measures have been adopted by the

Government to control it in the country?
4+4=8

* * K
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